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	Comments


6.8.3.7  RMR Energy Payments Outside of Contract Amounts

(1) If the RMR Unit generates energy in excess of the amount it is obligated to produce (i.e., the difference between the energy produced less the scheduled amount for any Settlement Interval is positive), the payment of the excess amount produced will be based on the Owner’s election of the Excess Energy Payment Option in its Agreement.  The Excess Energy Payment Options are based on the appropriate rebate to the MCPE or RMR Energy Price as follows:

 Option (A):  The price is based on the Market Clearing Price (MCPE) for the appropriate settlement interval and zone, less an energy rebate that goes to ERCOT. Currently the energy rebate is equal to 10%.

Option (B):  The  price is based on a net positive margin for energy.  The Net Margin for energy is the difference between the RMR Energy Price and the Market Clearing Price (MCPE).  The price is less an energy rebate that goes to ERCOT.  Currently energy rebate is equal to 90%.
(2) Option (A):  Under Section 6.8.1.13, any resource providing uninstructed energy receives a payment based on the MCPE.  The rebate to ERCOT for RMR energy generated outside of the Agreement terms under Option (A), above shall be calculated in the following manner:

ERRMRiu
= [max(0, (MRiu  - RSiu)) * MCPEiz * RP]

ERRMRiq
=
SUM(ERRMRiu)q

Where:

i
interval

u
unit
z
zone
ERRMRiu
RMR Energy Rebate Amount for that interval for that unit

ERRMRiq
RMR Energy Rebate Amount for that interval for that QSE

MRiu:
Metered value for the Resource per interval for that unit using actual and/or estimated values.

RSiu
Resource Instructed quantity for that RMR unit per interval

MCPEiz
Market Clearing Price for Energy per interval in that zone

RP
Approved Rebate Percentage (currently 10%)
(3) Option (B):   Under Section 6.8.1.13, any resource providing uninstructed energy receives a payment based on the MCPE.  The rebate to ERCOT for RMR energy generated outside of the Agreement terms under Option (B), above, shall be calculated in the following manner:

     
ERRMRiu
= [max(0, (MRiu  - RSiu)) * [max (0, (RMREriu - MCPEiz))]* RP]

ERRMRiq
=
SUM(ERRMRiu)q

Where:

i
interval

u
unit
z
zone
ERRMRiu
RMR Energy Rebate Amount for that interval for that unit

ERRMRiq
RMR Energy Rebate Amount for that interval for that QSE

MRiu:
Metered value for the Resource per interval for that unit using actual and/or estimated values.

RSiu
Resource Instructed quantity for that RMR unit per interval

MCPEiz
Market Clearing Price for Energy per interval in that zone
RMREriu
RMR Energy Price per interval per unit
RP
Approved Rebate Percentage (currently 90%)

(4) In accordance with Section 4.5.11.4, Receipt of QSEs Balancing Energy Bid Curves for RMR Unit, QSEs submitting Balancing Energy Service, bids using RMR Units must keep RMR bids independent of other Balancing Energy Service bids.

[REVISION TO section 22F, RMR Standard Form Agreement]
H.
Prices:

(1) Excess Energy Payment Option (Choose one option)

_____  Option (A): The price is based on the Market Clearing Price (MCPE) for the appropriate settlement interval and zone, less an energy rebate that goes to ERCOT. Currently the energy rebate is equal to 10%.

_____  Option (B):  The rebate  price is based on a  of net positive margin for energy.  The Net Margin for energy is the difference between the RMR Energy Price and the Market Clearing Price (MCPE).  The price is less an energy rebate that goes to ERCOT.  Currently energy rebate is equal to 90%.
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